 Read the? . . PartF/ W1

1. za*" _ : Aptitude Test / el ﬂﬁ&WI

Directions : (For Q. 1 to 3). Find the odd ﬁg'ure out in the problem figures given below :

- fFdor: (w1 83 & fAw) e & 7 777 swgfra d § e sptd qard |

N

1. ' -
| | W o f ®) @
@) @ © A9
. ||U l Bl il = l
@ @ - 3) @) ,
; Directions : (For Q. 4 and 5). One of the answer figures given below is hidden in the problem figure,
i\' in the same size and direction. Select, which one is correct.
J R : (4 35 & faw) | 79 7 SR sipfaal & @ ww gl w SR foon 7 garT ®9 @
| 797 ol ¥ fodt &1 vt a8t & g
l Problem Figure /| 399 3THld Answer Figures /| ST 37757/?1?#'
4 J g o Q
1 1) @ ) @

® ® ©) @




. ,,‘ g@)ﬁ@%

The 3- D problem ﬁgure shows an object. Identify, the correct mew
from amongst the answer figures, looking in the direction of the arrow,’

fdor: (w6812 é:‘fr‘ﬂ{)/. . 3Dmm#@a@#ﬁ@wwél a?w?fewr#é@#gq
5% el §v9 F 3T SNFE & 8 e N %

Directions : (For Q. 6 to 12).

Problem Figure | T¥7 3fIpla ' Aﬂswer Figures / W W :
| | ‘*’J(
¢
7 N _
6 10 [] [] []
[ |
AN | ,
(1) ¥y B @)
N
7. B {] ] —
[ | |
(2 ®) )
8 N ] : ]
: : _/
_ . X\
@ B @ /%
O/Page 3 SPACE FOR ROUGH WORK / T® &1 & fau g




e

Problem Figure / ¥ STFHHd, s

Answer Figures | ST Ccaced

a @ 3)

T ] T TN
M ] {1
| 1) (2) @) @)
@ :
] [] ul 1
N L L
@) @ : 3 4)

SPACE FOR ROUGH WORK / T% %Td & g e




_ Directions : (For Q. 13). How many total number of rectangles are there in the problem ﬁgufe gwen
‘ ' ' below ? . ST

FQPT: (W13 & fag)1 A9 & o yo7 smefa # sirralt 1 o7 e vt &7

Problem Figure /| 97 37737-@) ot r’d—]
: . - .
13, . | coedT
T . . ﬂ
LAt LA A | |
19 @ 20 @ 17 @ 18,

Directions : (For Q. 14 and 15). How many total number of triangles are there, in the probler: Rty
given below ?

T : (%14 315 & frg ) #ﬁ#m%ﬁﬁﬁﬁgﬁ#gﬁamma‘?

Problem Figure / J97 \?":75‘::/?'\-r A\ | ‘ _ -
A '

14.

1) 18 @ 20 ) 16 4) 17

i #Q | |

1 17 ¥ 19 3) 20 @ 18
O/Page 5 SPACE FOR ROUGH WORK / &% &/ ¥ fow smg




. ‘ . . ) : L]
j o Directions : (For Q. 16 and 17). The problem figure shows the top view of @n object. Identify t}
i : ! correct front view, from amongst the answer figures.

T : (¥ 16 3itv17 & Rrg) 1 5 STl A [ A TG ge oo &1 S s
E - #mwﬁmwm/ ‘

Problem Figure / o7 STigf | Answer Figures /| IR 3TFlaal

- owpge]  dwph Jef dsf dkn
| | | | _‘ SO ) 0 G

17.

L8 18 4

b »
. » Directions : (For Q. 18 and 19). The 3 - D problem figure shows an object. Identify, its correct top
(| ~ view, from amongst the answer figures.
L T : (7 18 3ilr19 & forg )i 3 -D 5% STFT 7 T g F e 1 &) gwwn a6t w9 g

! ) - SW AP 5 7 TEACL : '

' Problem Figure / F97 37l Answer Figures /EHLWW '
w :

I { 18. o | B -
2 1) ) A3) @)

L]
M @ ©) @

\197 LEE ‘L'\.- LL EL

O/Page 6 SPACE FOR ROUGH WORK / T %Hd % fore wrre




Directions : (For Q. 20 to 23).  Which one of the answer figures is the correct mirror image of the
! problem figure with respect to X - X ? .

PR (7,20 823 FRIT)1 IR TR 7 @ A sty 3 ¢ T omphy A X - X 9

Problem Figure / %7 3i&fa , Answer Figures | 3R 3lHlaat
. . ‘f p
20.
X @ - ) ®)

21

23.

X 1) e LB o (@)

O/Page 7 SPACE FOR ROUGH WORK / 1% &t % ft g




" Directions : (For Q. 24'ta‘ 2'7).' . Which one of the answer figures, will complete the sequence of the *
: W three problem ﬁgures ? RN

Fdor: (924 Q27 F fmw)1 3w smghadl 4 g #ngﬂ%raﬁahmanmﬁam#@
| | ' 3T (sequence) T & ST ?

Problem Figures / 171?7 rfaar - Answer Figures / 377?1?1'27?
24. 0O E » % l?o ? § 7 [ é% g |
@ G

vVie ©| e @ <
25 @A L B C] 0| e ? > a vi]e Ol e e | ®
— wooe e o

I

= I8 [0 & RGE R
o ] K

. 27. :. :..o '; :o .::o ' ? o. ':. . .'.: W .’. :0: |
1) @ b @

O/Page 8 SPACE FOR ROUGH WORK / 7% &/ & fau we




Directions : (For Q. 28 to 32)

ﬁiyr (1728 #32 %I%mr)l |
Problem Figure / Fo7 3”?’7%

32,

I-‘md out the total number
problem figure. T e

mm@%#ﬁwﬁva@% mﬁwmm%ﬁm

17 D18 @3 16 @ 15

wl

20 @ 22 (3‘)’ 19 4 18

16 @ 17 ©G) 20 @ 18

B @2 @ @ s

(1) A2 @) 13 B) 15

/‘7\\

{4) 14




Directions : (For Q. 33 to 35). thch one of the answer ﬁgures shows the correct view of the 3 - D
problem figure, wfter the figure is opened up ?

Fader: (W33 @35 % Rrw)i 3Dmanfﬁ%a#ah#wm3n§ﬁa?##wa?mm?7
’ Problem Figure / + Answer Figures / I SFHAT -

7 S

]

1
ﬁ-v

an

[
[
[

.7 F P SR T

2 11
CHEN
CHANEER
E

1]
111
[T 11
11

[T
I

[T
[ 11
[1I

M) @ ) @

3. | | Dv [=>
e Ty T <E©j>

(1) @ € )

O/Page 10 SPACE FOR ROUGH WORK / T &H % g wwig




S—

3. Wﬁich one of the following consumes least | 36. frfafag 3 ? ﬁﬁﬁﬁ ﬁ @"?ﬁ Eal -
- amount of electricity ? T FRE@E?. oo S
- (1') Fluorescent Tube (1) viefa e
(2)  Light Emitting Diodes (LED) 2]  TEW IESIE T (LED)
(3)  Tungsten Bulb , (3) TR T
(4)  Compact Fluorescent Lamp (CFL) (4) H&a (Compact) TRt Sy (CFL)
37. Qutab Minar is largely cladded with : 37. Fgd TR R FRER st Tmé T ?
| (1) Marble 1) R Y
(2) Brick 2 &%
(3) Granite (})/ IEe |
(4) Red sand stone (4) T I3 TR 9
38. In which place in India can we find cave | 38. WRA % firg e R 7 I el ¥ T wRe
temples of three faiths ? - o 2
(1) Ellora & T
(2) Agra (2) srH
(3) Madurai | ({3) TR o
(4) - Delhi ¢4) foooit o
39.  Which one of the following cities in India | 39. ~YRa &, Frerfafaa wedl q, a?hm 32 3R
lie in Cold and Dry region? [ 3o # v &
(1) Leh (1) %
(2) Gangtok 2) id=
(3) Simla B Tmen
(4) Darjeeling (4) <ifSferm
40. Which one is not a sound absorbing | 40, T TETel Ay sraviE TE § 2
material ? :
(1) Glass wool 1) wE
(2) Ground glass ) frm s
(3) - Jute bags () weET A
(4)  Thermocol (4) oW
O/Page 11 SPACE FOR ROUGH WORK / % &t & fou g




41.

1)

42,

43.

44.

45.

" Palace of winds (Hawa Mahal) is located

in-
Jammnu ‘and Kashmir
(2) Andhra Pradesh

(3) Madhya Pradesh

(4) Rajasthan

Horizontal sun shades are required to
proteét windows on which facades of a
building ?

(1) West

(2) North

(3) South

. (4) East

‘Name the city where canals are used as

transportation channels :
(1) Venice

(2) Tokyo

(3) Canberra '
Manhattan

Which type of roof will keep the room

cooler ?

(1) Concrete slab with mud, brick tiles
and covered with potted plants

(2) Asbestos sheet roofing

(3) Concrete slab with cement plaster

- (4) Concrete slab with mud and brick |

tiles

Which city is based on sector planning ?

(1) Kolkata

(2) Pune
(3) Patna
(4) Chandigarh

41.

42,

43.

44.

o,

45.

1) 3R R | .
@) sfgwmd
@¢). "EwRNH
\@/mﬁﬁ

A oo, waa ¥ R Sl F el wn
Rarsfrl @t g & Rl & = €2

(e
2) SW®
(3) s

@ o

3T Y& 1 AH @, e T, A &
Ty o STt § 2
(1) sfE
@) AR
() HFEU
@) A

firg T F BT W F ST @R ?

1) FFE @ 9a, M, A F @Al

TR ¥ Pl A TH B ‘

TR E

k) @ wiwa, W WRR F WY

(4) FFte Ft Ba, T R £ F: e
T R

Far T A wtHT W st 82
(1) I

@ T

(3) T

@) TR

W ‘ O/Page 12

SPACE FOR ROUGH WORK / T& & & fog wve




46.

47.

48.

49.

50.

Which one of' the following
Architect ?

(1) Christopher Benhinger

(2) Salman Rushdie

(3) Amrita Sher-Gill

(4) M.F. Hussain

is an

The summer sun in N orthern Hemisphere
rises from : '

(1) North East

(2) East

() North

(4) South East

Point out the incorrect combination :
(1) Eiffel Tower and Congo

(2) Agora and Greece

(3) Pagoda and Burma

(4) Vat and Combodia

Which one of the following is a horizontal
member in a building that carries load ?

(1) Vault
(2) Beam |

(3) Arch

(4) Column

Natural shadowless light is available from
which direction in India ?

(1) East

@) North’

(3) South

4) . North-West

46.

47.

48.

49.

50.

fretferfian % 4 #4 o TR 2

(1) FreeR IR -
2) HHH TR
(3) o -
4) T R

i , st e, o w7 @ P 22
O swEd
@ T

(@) SWR

(&) <R @

a:{[amaﬁam‘

(1) e 2R ok i

@ smeRdE

(3) Hirer 3fX smi

(4) e IR wwEfea

frefafes # @ #w wRa = T O
GEAHE AR & S foF 9 787 wear €2
(1) el 39 (diee)

2 W

(3) AEE.(3)

(4) , =W (FHiaw)

9Rd d, form BT o1 Wi g fee femm
Q39T 2

1 I

(2) WA

(3) <Rwd

(4) SW-vf=m @

O/Page 13
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51. .

W

52.

'53.

r

@

Let %2=16x be a given parabola and L be
an extremity of its latus rectum in the first
quadrant. If a chord is drawn through L
with slope -1, then the length of this
chord is :

e\b>
1 16V3 9 j\ .
@ 3242
@) 32
4  16v2

If the quadratic equation

3x2+2(a?+1)x +(a2—3a+2)=0

possesses roots of opposite sighs, then
o . . &
lies in the interval : 3y X

S WK A4
» L2
@ @3 xRV ’&VB&WW{
@) (~o-1) ﬁwﬁ(n”
@ (-11)

7

If p is any logical statement, then :
1)
2)
®)

pAP=p
pv(~p)=p
pA(~p) is a tautology

pv(~p) is a contradiction

52.

53.

Part I1 / W II .
Mathematics / 7T

51.

W

Ml y2=16x T& T 70 Q@@ § a9 L
W s F1 999 =quie ¥ T °9R §)

"G L@ D I arelt s il ], e e e
—1%,@@“%?@%:

D \W
R\

163 \‘9/

3242
32

)

2).
®)
@ 16v2

&2

3f fegoma wftecm
3x% 4+ 2(a2+1)x+(a2—3a+2)=0

ﬂ?{aﬁuﬁaf‘i@%%‘ M a forg i & §,
| :

M @2
-2 3)
(=0, —1)

(-1,1)

IS p TF T I FAA T, A -
)
2) pv(~p)=p

ST pACP)FIFAR
(4)  pv(~p) T fErefR 2

PAP=P

O/Page 14
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54.

55.

56.

57.

From a window x meter high above the

- ground, 1r} a street, the angles of elevation

and Elepression of the top and the foot of
another house exactly opposite to the
window in the same street are o and 8

~ respectively. Then the heiAght (in meters)

of the house on the opposite side is :
(1) x(1+cota tanp)
(2) x(1+cota cosp)
(3) x(1+tana cotf)
4) x(1+tana cos)

~ The least positive integral value of x which

satisfies the inequality 1°C, ., > 2x10C,

- is:

(1)
2
(3)
(4)

o U1 O O

The rate of change of the volume of a
sphere with respect to its surface area,
when the radius is 2 units, is :

1 2

(2) 1

(3) 4

4) 3

If m is the slope of a tangent to the curve
e¥=1+2x2 at the point (x, y) on the curve,
then all possible values of m lie in the

54.

55.

56.

57.

.. Lt

T TRt 4, offt A xR, F FER W e
fargmt @ <t et % wmA wt 3R feerd ya
¥ firEt 91 U ¥ I 9% ST F0
FUIM: o AAIR T W WA TR HET WY SR

(R A) ®: L

{;la/ x(1+cota tanp)

(2)  x(1+cota cosB)'T

(3)  x(1+tana cotP)

(4) x(1+tana cosB)*

x 1 9§ FAAH YRS qUIiRIT A,
Frafia 10C, > 2x10C, Y W & ¥,
%I lo

M o ot 7 L8P
N
@l e,
10 1Y
(4) 8 cq > e

TE M F Y& Q9% & Wmm
maad & uiEdd &1 R, T SR

ZE'WEF%, ?: '

1) . @ L
2 '
@)

(4)

W = =N

g aF e¥=1+x2 & fag (v, y) W &
Y W@ ] e m €, @ m F Gt g9a O
ﬁmeﬁ'mﬁﬁ%%ﬁ"@’%:

O/Page 15

interval : 61“4 -
1) (= =1) 1D (-, 1) 1%
2) [-1,1] 2 [-11] _
G 01 (3 [0 1] i
(4) (L ) (4) (L, o)
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" '59,

60.

61.

)

(3)

A common tangent to x%—2y?=18 and
x2+y?=9is :

(i) y=2x+3.7

2 y=+v2x+35

y=2x+3/5

@ y=V2x+3.3

The coefficient of t24 in
1+t)12 1 +t12) (1+124) is :
1 12c.+1

(2) 12

(3) 2C+13

(4) 2C+2

If the system of linear equations,
x+3by+bz=0 and
x+4cy+cz=0 has a non - zero solution,
then a, b, c satisfy :

(1) "2ac=ab+bc

(2) 2ab=ac+bc

(3) 2b=a+c

(4) b?=ac

x+2ay+az=0,

If f (x)=2x | x |, then for any real numbers
a and b with a<b, the wvalue of

b
J f(x)dx equals :

——
o
w
+
[on
w
S—

(1)

—_——
o)
W
I
=3
w
~——

b))
(1bP-1aP)

|b® —a®|

)

Wl Wk Wi W=

58.

59.

60.

61.

| afg s Trfiew frem

x2—2y2;1sam_{%+3;2'=9aﬁ@m
i g

(1) y=22+37

(20 y=v2x+35

() y=2x+35

@) y=2x+33

(1+912 1+112) 1+124) F gER ¥ 2
. 2 Q

I[UHEB%

(1) 2C.+1

(2) '2cq

3). 12C,+13
@ 2c,+2

x+2ay+az=0, ‘x+3by+bz=0
x+4cy+cz=0 %1 T&H AW T ¢
a,bcEIR W T :

(1) 2ac=ab+bc

(2) 2ab=ac+bc

(3) —2b=a+c

(4) b’=ac

IS f(x)=x | x| €, T IRafas demsiiad

b
% fog, Gﬁ'aﬁb%, '[f(x)dxm% :

(Ipf —1aP)

W W= Wl W
lop

w

|

[

W

O/Page 16
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13 15
62. j—7x—+—536—:5— dx equals :
(x7+ x%+ 1) : T
7
) tcC
' (x’7+ v+ 1)
Vi
@) 4 cC
2(x7+ ¥+ 1)
14 »
3) ad +C
(x7+l x2+ 1)
14
@) — +C

- A N A - A A
63. Let v=2i+j-kand w=1i + 3k.

-—> - - 0
If uis a unit vector, then the maximum

value of the scalar triple product

- - -
Ta v wiis:

1) V59
) Jeo

ﬁ/, 'Jg ) :
;(4) V10 + V6 -

vrr 13 15
+ . .
62. j Xt 5 sd Ry
o (x7+'°xz+ 1) o
7
1) ad +C
(x7+ x2+ 1)
7
@ — s +cC
- 2(x7+ P 1) :
14
3) ad +C
(x7+ x2+ 1)
14 .
(4) X +C

63.

- A A A - A A
A v =2i+ j—k @9 w = | + 3k

B AR Y O v afew € @ oy fie

‘IUT:!W[:;} xJarrafamm%:
< , Miads 7N

M D . gl 9

2  Je0 faﬂ\fﬁ)

Gy V6

(4) Jiﬁ+J€

O/Page 17 SPACE FOR ROUGH WORK / T% &4 & fotw e




64)\* If avariable line, paésing through the point

65.

of iptersection of the lines x+ 2y—-1=0
and 2x—y—1= 0, meets the coordinate
axes in A and B, then the locus of the
mid-point of AB is : |

(1) x+3y=10 xy

(2) x+3_y+v10xvy_=0-‘

. ¢ T L - FUE D - FRW
(3) x+3y=0
4) x+3y=10

Statement 1 : The line 2x +y+6=0is

_perpendicular to the line x —2y+5=0and

second line passes through (1, 3).

Statement 2 : Product of the slopes of any
two parallel lines is equal to —1.

(1) Statement - 1is true; Statement - 2
is false.

(2) Statement - 1is false ; Statement - 2

is true.

(3) Statement - 1 is true ; Statement - 2

is true; Statement - 2 is a correct |

explanation for Statement - 1.

(4) Statement - 1 is true ; Statement - 2
is true; Statement - 2 is not a correct
explanation for Statement - 1.

64.

65.

*Q

ofz T W X, Yl +2y—1=0 o
Zx,—y—1=oa?qﬁ|%3'aﬁ§ﬂ€1maﬁﬁ%
qen frawie. agﬁm’rA,amBmaﬁrzﬁ%,-?ﬁ R
AB_'amm—fdgmﬁ‘gw%: o
(1) x+3y=10 xy

@) x+3y+10xy=0

(3) x+3y=0_ N

(4) x+3y=10 J%‘,\/ﬁ
iy

FIT1 @ 2 +y+6=0 @ x—2y+5=0
@ e & e g Y (1, 3) ¥ A RO
7

AT 2 - & QR T Fi el w1 O
-181

@/Em—lw%,a;m—zm%u

\2 HoF - 1 A 3, HIF - 2 A T

3) FoH - 199 & ; T - 27A §,
FT - 2, FUF - 1 F @ AEA R

(4) Fo - 1T & FU -2FA T
FU - 2, FO - 1 F G& e T
7

O/Page 18
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66. Let A and B be two events such that
‘' P(AUB)>3/4 and 1/8 < P(AnB)< 3/8.

- Statement 1: P(A)+P(B)> 7/8
Statement 2: P(A)+P(B)< 11/8
(1) Statement - 1 is true ; Statement - 2

is false.
(2) Statement - 1 is false ; Statement - 2
-is true. ' :
(3) Statement - 1 is true ; Statement - 2
-is true; Statement - 2 is a correct
explanation for Statement - 1.
(4) Statement - 1 is true ; Statement - 2
s &ué; Statement - 2 is not a correct
explanation for Statement - 1.
67. Consider
Li:3x+y+a—2=0;
L;:3x+y—a+3=0, where a is a positive
real number, and
C: x2+y2—2x+4y—4=0.

- Statement 1 : If line L, is a chord of the
circle C, then the line L, is not always a
diameter of the circle C.

Statement 2 : If line L, is a diameter of the
circle C, then the line L, is not a chord of

the circle C.

Then,

(1) Statement - 1.is true and
statement - 2 is false.

(2) Statement - 2 is true and

Statement - 1 is false.
(3) both the statements are true.

_(4) both the statements are false.

66.

67.

fe1 e fomR iy

WAHWBQ‘@%W%%P(AUBPWLL ),L(UQ
1/8 < P(AmB)<“§/8 B '»/3
®IT1: P(A)+PB)> 7/8 N@ o
FIAT2:  P(A)+P(B)=< 11/8

(1) w97 - 19 ], FI - 2 3W@A B ?F

@ FE-130AE T -2TARY, v

>

@) FU -197 R ; 972 §A 2,
FU - 2 HH - 1 F TE = R

FT - 19 & F - 2T
FYT - 2, FF - 1 H TS e @
. &gx”/g)
b
rg)c

Li:3x+y+a—-2=0;

Ly: 3x+y—a+3=0 % afF o T3 ¢ HW\"
A g g, g LW AL

C: x2+y?—2x+4y—4=0.

Y1 :IRL, 6 CH TF a1 8, AL, T
1 C 1 A TR B

FUT2: IRL FMCH AR E, AL, FWC
ﬁsﬁmﬂﬁ‘él

(1) FF - 1TA 8, F - 2 59 ¥
(2)" FUF - 29 B, U - 1 39 §1

oy T

@) 3w e T
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i s TSt -

o : 1 .
;8. Letif and g be functions defined by | 68 HHl f A0 g, =71 qv xR, x=—1 A

1 v
f(x)= x + 1 7 xERI x¢—1, and

gof : ,

(1) Mwma‘ﬁ%n

2) aaﬁﬁﬁ%aﬁwém%n
3) qﬁ?ﬁ%ﬁﬁﬂmqﬁ%l
@) mﬁ%m@;ﬁaﬁ%t

- gy=x2+1 xR Then gof is :
(1) bothone- one and onto.
2) neither one - one not onto.
(3) | one - one but not onto. ..
4) onto.but not one - one.

69. Letfbea differentiable function such that | 69- qrEl f & gl sgFaAE v g, =

8f(x) +6f(%)-— x=5, (x#0) and

=x? f(x)'then o atx=-—11s:
Yy ’ dx :

1 .
M "1 14 A .
T | oY
) ) W\ /
® I @ 7 WY
N A
® i @ $ v
14 14 )25[/ \%(
15 .15 O
@ -1 o -2 XK
gxX X
/ N
7o, If z=i (i+ ﬁ), then the value of | 70. g z=i (i+ ﬁ)%, 'cﬁz4+4z3+6z7-+4z
ApaB+6z2+4zis: FAAL
1) 6 1 6 D(é
@ -9 @ -9
@ -5

)

g(x)=22+1, 4R TR U, e Fad

e e

e




71. If for some real n‘ﬁmber a,
e lim Sin 2x +3a il exists, then the limit
x—-0 X
is equal to :
1) 1
2 2
@ -2
4 -1

3
72. 2cot™}(7)+cos 1 ('5' ), in principal value,

- isequal to:

o o)

) 117
-1
{2)  cosec ( 125 )

3) cos_"l(%)

) cos-l(—l%)

73. A tree, in each year, grows 5 cm less than
it grew in the previous year. If it grew

half a metre in the first year, then the.

height of the tree (in metres), when it ceases
to grow, is :

1) 2.50
@) 2.00
(3). 3.00
4) 275

71.

72,

73.

gfe fagl amf“em R P R 1

lim s1n2x+3asm~c o 3‘-!1'1?1’6% R

x -0 x“=

wmaERy: ,to,s;\DL-»
' ﬁ{ﬂ& '

1 1 ‘ PERRY

@ 2 |

@) -2

(4) -1 PG BOSE

- 3 . ‘
2 cot™L(7) +"c05"1('§] &1 & HF SE
%: . . . | A‘».

41 )
-1 — R
(1) Ean (117] 1 : . e W
' =4 117
(2) cosec 125
;4i
(3 cos™ 15

4) cos"l(%) » 'V\, ‘

T U3 yfaad, frsd af #1 ordan 5 9.H. &9
wgal &1 A g Re 98 H1/2 W, gEw €, @
mwmmm&ﬁ%ﬁwﬁ (e
)%

yen
Voo
(1) 2.50 v
2) 2.00
(3) 3.00
4) 275
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74 Let S -be the set of all real matrices,

a b
A=L d}such that a+d=2 and

AT=A2-2A. ThenS:

(1) has exactly two elements.
(2) has exactly four elements.
(3) is an empty set. |

(4) has exactly one element.

i xoosx?dx

75. The integral :‘/ﬁ cos(In35 — x%)\ cosx?

is equal to : » . /_\%\
1.7 LN
W g=ng K »
X o '
@) Inl 0,*?9}‘ ¥
2 5 v </
¥, \U
3) —1—.111-5— 0\\;5 XR/AKL
O QY
&
1, 5 K&
@ 53 NV
')@‘N
o~

76. If a variable plane passes through a fixed
point (1, —2,3) and meets the coordinate
axes at points A, B, C, then the point of
intersection of the planes through A, B, C
parallel to the coordinate planes lies on:

1) xy—2yz+3zx= 3xyz

2‘ . I'_l_ }_ =6
(2) xy+Hyz= g AT

2 l 1
3) xy- Eyz+§zx=6

(4) yz-2zx+ 3xy =Xxyz

X 1,7
§ ® 773
1.7
¥ @ 33 |
8 \
1.5
1, 5
@ S

74.-nm§asﬁarmfamma{ﬁm'mm%,

75.@4@‘@3]

e

76.

(2) xy+t Eyz—gzx=6

2 b '
A=L d}ﬁm 2 & a+d=2 3N
AT=A2-2A%, @ S:
(1) 3 e Q T €
2) F Faa IR s=d ¥
(3) w fad 9u=E R
(4) el T SEE ¢

Jin7

X COS x2dx

NS cos(In35 — x%) + cosx

I : _ ,
<y
Q! |

of 1w W e T e {6 (L ~2,3)¥
z‘mm%wﬁéﬁﬁﬁmﬁ@rﬁ@ﬁm&
C W HEA B, A A B, C R BHE TH L,
frivis ol ¥ WHiw aHaen H
ﬁgmmﬁ%%ﬁ%%:
(1) xy — 2yz +3zx =3xyz

1 1

of -t
xy—'2—y2+§zx=6

(4) yz—2zx +3xy=xYz
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77. Suppose a population A has 100
~observations 101, 102, ..., 200 and another

population B has 100 observations 151,
152, ..., 250. If V, and Vj represent the

77.

Il‘f?{ ww wAfe A ¥ 100 Fam
101, 102, . ., 200 ¥ T gEd wmfie B & 100
J&§ 151, 152, ..., 250 §1 ARV, wen v,
ELEE ﬁwﬁeﬁ#mﬁmﬁ%a‘r

variances of two populations respectively, UMV, : Vg ?: 100 e %
then the ratio V, : Vg is : ) gl
| el 20
-~
@ 1:2 1 1:2 NN 2
RE
: 12
2 3:2 2) 3 Va
@) 1:1 @) 1:1
4 2:3 4 2:3
t, P |
78. Statement 1: If three positive numbers in | 78. ®UT 1 : IR ToneAs F& #1 @9 oA
G.P. represent the sides of a triangle, then - e ww e w1 gt & ety
the common ratio of the G.P. must lie 4 €, q@ TR AT w1 @ srgm
- | _SE:M
bet'ween\/g 1and\[g-l-l. 5 - \/—+l§n‘aﬁ’1ﬁﬂﬁ%i G-l e
2 2 2 L
Statement 2 : Three positive numberscan | HYF 2 Al 97 wTes gensdl F fat @
form sides of a triangle if sum of any two 14 e | =91 &, @ 7R g w B
numbers is greater than the third number. it o] T S g § \ + 92
(1) Statement - 1 is true ; Statement - 2 (1) &9 - 193 §, T4 - 2 309 8
is false.
(2) Statement - 1 is false ; Statement - 2 (2) WY - 1999 Y, FAT - 294 B
is true.
(3) Statement - 1 is true ; Statement - 2 (3) g9 - 19 2 i RHYT 2 Y %,
is true; Statement - 2 is a correct HYT - 2, WY - 1 H GE T T
explanation for Statement - 1. ‘
(4) Statement -ul is true ; Statement - 2 \/(,4/) FUY - 1T §; FYT - 29A ;
is true; Statement - 2 is not a correct YT - 2, HU 1 HI TE AT TE B
explanation for Statement - 1. ,
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79. The general solution of the differential
-equation

d . +y . -
Ey+sm (x—z“—)=sm (x 2 y)is:

(1) - log c_ot% + 2sinx = C

2 log cot% +25in326—=C

.(3) log |tan= |+ 2sinx=C

: X
log [tanZ | +2sin= = C
(4) log |tan sin_

80. The angle between the lines 2x =3y = —
and —6x=y=4z is :

1) 90°
@ o
@) 30°

@) 45°

-000-

80.

(1) Iog [cot%) + 2sinx = C

(2) log
(3) log
(4) log

cot—y— +2
4

’canz +2
2

tan—y— +2
4

sinE = C
2

sinx = C

sinE = C
2

ke 2x=3y=—zqU —bx=y=4z % &9
FIHRTR :

(1) 90°
@ o0

3) 30°

P/(Aj/ 45°

o)p

LY

v

~00o0-

- ¢/’“’

(r% \vhal
V74

R

AV

b
AN OH} ) = 5f C'D%T)
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Read the follbiwing instructions carefully :

Freaferfaa fdr sar @ ug':

1. PartI has 50 objective type questions of (Aptitude
Test) consisting of FOUR (4) marks each for each cgrrect
response. Part II Mathematics has 30 objective type
questions consisting of FOUR (4) marks for each
correct response. Part III consists of 2 questions
carrying 70 marks which are to be attempted on a
separate Drawing Sheet which is also placed inside
this Test Booklet. Marks allotted to each question are
written against each question. For each incorrect
response in Part I and Part II, one-fourth (Va) of the
total marks allotted to the question would be deducted
from the total score. No deduction from the total score,
however, will be made if no response is indicated for an
item in the Answer Sheet.

2. Handle the Test Booklet, Answer Sheet and Drawing
Sheet with care; asiatidér no circuthstanices (except for
discrepancy in: Test Bopklet Cadls.artd Answer Sheet
Code), another sét willf be provided.

3. The candidates are not allowed'to-do any rough work
or writing work on the Answer Sheet. All calculations/
writing work are to be done on the space provided for
this purpose in the Test Booklet itself, marked ‘Space
for Rough Work’. This space is given at the bottom of
each page and in 3 pages (pages 25~27)at the end of the
booklet.

4. Edch candidate must show on demand his/her Admit
Card to the Invigilator.

5. No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her
seat.

6. On completic.i of the test, the candidates should not
leave the examination hall without handing over their
Answer Sheet of Aptitude Test and Mathematics-Part I
& Il and Drawing Shect of Aptitude Test-Part I1I to the
Invigilator on duty and sign the Attendance Sheet at
the time of handing over the same. Cases where a
candidate has not signed the Attendance Sheet the
second time will be deemed not have handed over
these documents and dealt with as an unfair means
case. The candidates are also required to put their left
hand THUMB impression in the space provided in the
Attendance Sheet. However, the candidates are
allowed to take away with them the Test Booklet of
Aptitude Test and Mathematics - Part I & IL

7. Use of Electronic/Manual Calculator or drawing
instruments (such as scale, compass etc.) is not allowed.

8. The candidates are governed by all Rules and
Regulations of the JAB/Board with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations
of the JAB/Board.

9. No part of the Test Booklet, Answer Sheet and Drawing
Sheet shall be detached/folded or defaced under any
circumstances.

10. T,he candidates will write the Test Booklet Number as
given in the Test Booklet, Answer Sheet and Drawing
Sheet in the Attendance Sheet also.

1i. Candidates are not allowed to carry any textual

- material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the examination
hall/room.

1.

10.

11.

e & Wt 1 7 (erfirefa wian) ¥ 50 aegfE T ¥
s yd® T & w9 IW F fag = (g) s Fuifa

TR wm w30 wwgf v § R T
TRy e ) i ¥ 1 Iy w2 7w

2 foek e 70 o FreifRa ¥ 1 7% wea ot wlten qfam
* R W T W W FA ¥ ¥IF 797 3y Fruifa
3% T % W@ ok €1 18R W 0 ¥ va@e
e 3T % T 39 9 & fog freifa ga1 sl 9 @
ga-steng (Va) ol Fa 9§ § s fog s afe
wwﬁﬁmmmﬁémaﬁﬁww% A
4§ | FE o 7@ @i
e IR, S U9 U6 R Y w wryEs wEn
W, Fifs faww o wfeafs § (Faer wdean yhaw @
IW IS & HIs H fowan &1 frafa 1 sgat) ol wdan
ik 39eTed @l Ot S |
TiEfefdl I I W ER o T Fr @ forand w wm
F & AT T ¥ 1w T o ferar i, wden
Y # fruifa st st fr ' vw i % forg s g
Fifera &, T i S| o e Y g WA @l
3 e Y F Sia #3981 (q@25 - 27) WA R
1B IR R Ta% el figw | o v w1
feamd |
sefters o e =it fovm arqwfa & fom &g e
FAHAI WA A B
qe wEE 9 W, gl et | oo
Frfyreia e - W 1 TE T - 97 11 S A '
SRR Therw-mT I H1 g e 2 it sufeufs v
T ST TEAER TR T F TEI € hen T B |
THT 7 A W e qH SR ok IR 99 U GET vt TR
ey g & R argfera Qe v Sl T s
Titemefi ave A Ty & 317 T Frone Suftefa oA
feu g o ox arava wWd | qenfy, wienef aroe
Ffyefa Wi v i - mlmllmnﬁaﬂgﬁaﬁrﬁ
R I T ¥
T e UfewaE 1 g TR (I fE
T, FUM FEE) 1 740 afsfe 81
e g # o ¥ faw wdtened 9w e, /e & Frawt
wd faframi g frafaa 81 srafaa am wam & wsit
A 1 e 91.0,4. /arE & il wd fafe & smen
2
et oft fearfa & wdien yieqem, ot o ©@ BN vie &
F% o 9 T @ e foman s @R A & Hrer s
St fomet s |
e g, 3T T U g vie ¥ @ 9 wlien giw
Hem & whanel wh a0 4 wiwd w o ot fod
Titerreft gRT wften e/ F ¥ wAw w1 F faam
Teredt wor T urem W, wfga ot gefatem, s
w1 ufEal, IR, WeEe Wi, SO SUaHToT Al
ferit ar= WenTT Sh1 WTHIT a1 & T AT UL 1A i
FrafE i T
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